AP Calculus AB Name:

AP Review #4
1.
o Graphoff’

a. Let g(x)=f(3x). Calculate g'(-1).
5‘(’Q= £(%3%)- 3 Sl(—D; £'0-3)3%3 = 1.3=3

b. Let h(x)= j f '(x) dx. Calculate h'(8) .
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c. Let m(x)=x*f" X . Calculate m'(2) .
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2. Given the graph of f ', write an expression for f (x) if f(3)=11.
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3. Given the graph of f ', write an expression for f (x) if f(-2)=-5.
g’( SUD db = 20O - £(-2)
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4. Let g(x)be the antiderivative of f (x). Ifg(17) =2.301, write an expression for g(x).
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5. Let g be the antiderivative of fand let g(6) =5. fis piecewise defined with line segments and a
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Graph of f

For what interval(s) is g increasing? Justify your answer.
|
(3,4) v {ef] beawse g=F>0

For what interval(s) is g concave down? Justify your answer.

(2,5) v (1,8) because g7 £'<o

Write an expression for g(x) .
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Findg(-3) .

§i-3)=5+§ "

Find g(3).

Findg(8).
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Find the absolute maximum value of g. Justify your answer.
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